
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

4.361 × ________ = 43.61 3.807 × ________ = 3807

5.273 × ________ = 5273 8.398 × ________ = 83.98

10.075 × ________ = 10075 3.151 × ________ = 3151

5.088 × ________ = 5088 4.011 × ________ = 40.11

1.477 × ________ = 1477 7.032 × ________ = 703.2

6.448 × ________ = 6448 6.503 × ________ = 6503

5.917 × ________ = 59.17 1.887 × ________ = 188.7

2.584 × ________ = 2584 2.998 × ________ = 299.8

10.403 × ________ = 104.03 1.193 × ________ = 11.93

2.344 × ________ = 23.44 10.043 × ________ = 100.43
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

4.361 × 10 = 43.61 3.807 × 1000 = 3807

5.273 × 1000 = 5273 8.398 × 10 = 83.98

10.075 × 1000 = 10075 3.151 × 1000 = 3151

5.088 × 1000 = 5088 4.011 × 10 = 40.11

1.477 × 1000 = 1477 7.032 × 100 = 703.2

6.448 × 1000 = 6448 6.503 × 1000 = 6503

5.917 × 10 = 59.17 1.887 × 100 = 188.7

2.584 × 1000 = 2584 2.998 × 100 = 299.8

10.403 × 10 = 104.03 1.193 × 10 = 11.93

2.344 × 10 = 23.44 10.043 × 10 = 100.43
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